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12th Standard

Physics(theory)
SQP Marking Scheme 2020-21

s.no. Value Points marks
1. = = 1
According to Gauss's law, ¢ = §E.d5 -4
5 &
..where [4, s the total charge enclosed by the surface $
20~ .
4= 4709 . Electric flux, § = 4
& & &
2. Physical quantity whose S.I. unitis JCtis 1/2
Electric potential.
It is a Scalar quantity.
/2
Oersted
3.
1
4. |Zero degree 1
5. : 1
Conservation of energy

6 Gamma rays

' 1
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7 |Total internal reflection
8
Frequency
9. Max. K.E =charge x stopping potential
=1.5 x1.6x107-19 J
=2.4x107"-19)Jor1.5eV
The angular momentum of an electron should
10. bean integeral multiple of h/2m
L=mvr=nh/2 1
11. |C
12. |B
13. |D
14. | A
15 1o T=pxE

or T=pEsin 6
here P =2aq

(If point charges are g and —q separated by a
distance 2a.) P

-, Torque is perpendicular to dipole moment and
electric field. T | p and t L £

= N =
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mum Torque T = pE when 6 = 90°

s M
I TR

e

\ '/
—at — OR
¢ T;ﬁ when, sin9=-;—i.e., 8 =230°or 150°

-
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€. (i) Real, magnified and inverted 1mage.

(if) The image produced by the objective lens should (1)
either be formed at focus of eyepiece Or between |(/ )
focus and eyepiece.

(ii) If image formed by the object is placed
between focus of eyepiece and an eyepiece; then (2

v D :

magnifying power is m; = ——0—.(1 + 7) which
the case of first microscope. %o g
But in case of second microscope, if image formed
by objective is formed at the focus of eyepiece,
then final image is seen at infinity and angular

magnification produced will be m, = ¥

“Up\ .
[ my<m]
17. (a) C=2+3+4=9pF=9 x | g '3': (1/2)
b _ = =
(b) Q1=C1V=2x 10 X100 = 2 x ‘o-toc (1/2)
Similarl - -
y Q, = 3X o laC (1/2)

J
Qy= 4 x (5719 W2

18. Resistance of shunt Y, = Qc, B [0 X080

_ = = 0
r T, 50—y 209

0

= — - 6416 5)
QB365 - Qfestibn Bank Softwarée @




QB365 - Question Bank Software

OR
BLI=mg = jLg
B==)g/l 1
e/t (15)
From Fleming left hand rule , magnetic field must act horizontally in a
direction perpendicular to the wire carrying current. (%)

19. Magnetic declination (1)

Correct figure for horizontal compoent (1/2)
Correct relation 6‘_‘ = B¢ Cop S U/Q')
OR
B = L By o B
J3 _ =
g J?
Ao
‘6“/‘ = Tom%
B
6 o —’-(M\ g :\E
ex § = QOO U )
(b)) Bn = Be (4 B, (0 - Bt
o 2
VR
533 2 (1)
20-(2) " = R 05 <15 3w, 3
T < - lo = |mhH
4 05 A i
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(a) Aninstantaneous emf is produced in the larger coil on account

of mutual inductance. (1)

21. 4 = 581Imm-= 58‘))(’51«4
3

C = X))o frw}s
LO')«’ [ a’tt - C 3><)08
0o ’T%MWU? - — e —
% A SSﬁma-?
:S,OQX/OIVHZ
oh ﬁraguw“] o} rbtraciwl L],Lf/ Q/:))
]

b 5'07 X |0 HZ_(I)

(5) Wawelusth of rfradid Liht A 'z 2

_ 5819

———

.33
=442.8 M
(1)

22. Correct understanding of Wavefront (1)

Correct depiction diagrammatically (1)

r /
A
2 /&i’m_ﬂ p‘ /‘:D;WQ Com w«it _B__:
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Mot P = g lmm |

/
o /‘ = Séo M m

24, Correct biasing (1)
Two advantages (1)
Or
Circuit diagram (1)
Characteristic curve (1)
25. Correct labelled diagram (1)
Correct input Output waveforms (1)

Section C

26. Derivation of resistivity f = wz (3)
ne T
27. Labelled diagram (1)
Principle (1/2)
Working (1)
Sinusoidal nature (1/2)
Or

Mutual inductance definition (1)

= F:2mmwm y A= $30mm

(2)

NAZ:  (2)

o _ Lo
Derivation of le - =M = \(

28'(Q) mo’\"‘-‘”\hm % e.lcot-ra'vt =MO‘MWLM" ‘? P‘L\OJG""'

o {?.. §¢3 x5 3"

- 15
= 6:63X10
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(b ) E’VUVW 073, %9%4 @%IOE%MSWMD~Z§Q IxX lgz[,?ixlg/é
T

52

2 =2
) kg o tecbron k= £ - ECEx1TH
2X90 x (573 =24 x IO-HJ'

OR
Mry D, = 3.3K|$" Hy omadd 9:8'2)(!0"?!2
R (P-20) = e,

:a o = £‘ 2)‘?)0
M‘M/ Vﬂ'aﬁz V. _e_( )

— 1Y
0 Lézmoz;i (8'2 x1d7-3.3x10")
oo \/a -
I'6 x 10”19

= 2.0\ (3)
29. /-\((a—raLfM.; = J.L-Bu’zﬁc'e's W"MJ
Lotal patl. Legth 4 ol =y

— O
a—-@‘fo A = é ) _g‘
) T
oo 0O A7 = u. 4
W8
low'd Wlﬂ;«)q; :14_
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(b) - =

—c R _

— (1)
A
Qg" E_A = %i “")
* E—c_ ‘éA = f"z Lt )
G a,la&’u? eps a) 4—(1'/)
£ - _ ke, e
T¢ £ A, A,
he _ ne . X Loy €017 )
Az Al A,
/13 A, Ay (2)
Y l (
A R AgL)E (L)
R, R, ]3 A, 8 &
nY %/
(b) __S_' [(ﬁ K,l (ﬁo A; 3) :<£'_! 3
S, Yme + CK()A;A) 2
(15
= -
31.(a) Proofof [ = 2 2 (3)
24 EoY
(b) As ? - 3:&’?.

Electric flux is finite only for surfaces 1 and 2 shown in fig. and for all
remaining surfaces flux is zero.

L
Area of each surface is q,/- For fawg (D X =0 5% E@:o ﬁ,%—,o

- A
v = E. ‘ = 2 . 21 - 3
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(1+1)

OR
(a) Statement Gauss’s law (1)

Derivation of electric field due to long straight conductor (2)
(b)

CQ\MC oW d,uM-UAt \V\N

M N

- .—/Tre) Qauuim
do = Adr A Sl ol
< léidjt Surey
(e ve (d f
T £ o T = z Y
ARV & .
) -g‘lcxat'l
- ‘ 2
- EKL
Sl dadnic Plecx Dhroug b e
2
(2)
¢ holloo Sfacs = % - kL
Cla_uSSLM 4:(», o S,
32. (a) Labelled diagram of Transformer (1)
(b)Principle (1)
© _ N . N, M
po g N g
T Ny D = 4,
\/fv 60 V'LP - I/_L.J
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= Lr N »
N
rI n, (

(b) - ,
e V=220V N <ipV andf 550

Ll loots = Qubopd Moy

’r s /0(:‘4 = ,ga,t ot ﬂ(éq,?) — VPZPZ 5—§OW

, . P s
yo C&m'wd; o/Y*AM J_F:"’” =
V’o 220
= 21-5A
(2)
OR

Correct derivation of impedance / = Vgﬁz 2
HXL = X))

(3)
Correct graph
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Correct explanation : We vary the capacitance of a capacitor
in the tunning circuit so that the resonant frequency of the
circuit becomes almost equal to the frequency of radio signal
of a particular station. (1)

33. (a) The observed phenomenon is diffraction of light. (1)

(b) There is significant fall in intensity of the secondary
maxima in compared to central maxima because in central
maxima only constructive interference is taking place while in
secondary maxima constructive as well as destructive
interferences are taking place. (2)

(c) When width of the slit ‘a’ (say) is doubled angular width™ 8 -
(consequently linear width too) of central maxima given by

A
=+ =~ Is reduced to one half of its previous value means
size of central maxima will be reduced to half of its previous
value. (2)

OR

(a) Brief description of diffraction at a single slit,
clear figure with condition for the angular width of
secondary maxima and secondary minima. (3)

(b) q‘c'l/‘bu /'(‘2570'14%:5701( }0‘-?

A ™
2 = S < Sﬁéxfo‘zq
SLl rverd. a

= 2)(10\6W conod

D —
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